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fin inequality is a mathematical sentence that is vsed fo
compare quantities and contains one of the following signs:

0 < b or a is less +han b
o>borais greater than b
o # b ora is not equai to b

OPEN SIDE > VERTER SIDE
When using an inequality sign to compare two amounts,
place the sign in between the numbers with the "open”
side toward the greater amount and the “vertex” side
toward the lesser amount.

THE MATH MONSTER
ALWAYS WANTS TOEAT
THE GREATER AMOUNT!

You con use a number line to compare
quantities. Numbers get smaller the
farther you go to the left, and larger
the farther you go o the right.
Whichever number is farther
to the left is "less than the
number on ifs right.




EXAMPLE: Compare -Z and 4.
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-1 is farther to the left than 4 so -2 < 4

\w/e can also reverse this expression
ond say that 4 > -Z.

-2 < 4isthesameas 4 > -7,

Remember that any negative number is always less
than zero, and any positive number is always greater
than zero and all negative numbers.
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There are two other iﬁeq_unlﬁ-g SHI‘H'D-‘JIS Yyov should kEnow:

0 £ borais less than or aqunl to b
0. 2 D or "a is greater than or equal to b”

~ EXANPLE: X <3 which means X can equal any number
less than or equal to 3
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3 ond any number o the left of 3 will make this number
sentence true. The valve of X couldbe 3, 2.1 O -1,
and so on. But X could notbe 4 5, b, and so on.
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=72 and any number to the right of -7 u.nll moke this

sentence true. The valve ﬂ-’F X could be 0 — 1, and so on.
But X could not be =1, —1 — and so on.

82



@ CUECK Your L LOLLEDEE!

1. Compare -1Z ond 8.
2. Compare -14 and -15.
3. Compare O and -8.

4. Compare 0.0Z5 and 0.0Z6.

3] compore = and o
. pare T ond .

¢.| compare = and -
. pare =3~ and =7

1. If y < -4 list 3 valves that y could be.

8. Ifm =0, list3 volves thot m could NOT be.

9. \which is warmer: =5°C or -8°C 7

10. Fill in the blanks: \Whichever number is farther fo the

left on o number line is the number
on its rlght
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CWECE Your [EISWERS

1. -12<8Borf¥>-2

2. -14>-50r-15 <-4
3 0>-Bor-8<0

9. 0025 < 002 or 0026 > 0.025
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1. -4 and/or ony number less than -4,
such as -5, -6, etc.

8. ﬁng number less than O, such as -1, -Z, -3, etfc.
9. -5°C
10. Less than

47 and 4F¥ have more than one correct answer.



